Nanyang Primary School
Mathematics
Primary 1
Term 1 Combined Topical Test

Name: { /40
Class: P1 | Parent's Sigi_'latljre:
Date:-

Duration: 45 minutes

Section A

Questions 1 to 10 carry 1 mark each.

For each question, four options are given.

OCne of them is the correct answer.

Choose the correct answer and write its number (1, 2,3 or4)

in the brackets { ) provided. {Total: 10 marks)

There are toothbrushes.

(h 7 (2) 8
3) 9 (4y 10 ( )
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What is the missing number?
3

(M
)

least objects?

Which set has the

3.

Set B

Se_t D

Set A

Set C

Set B

(2)
(4)

Set A
Set C

(1)
(3)

SetD



Which two sets add up to 10-forks?

Set A Set B SetC SetD
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(1) SetA andB (2) SetBand C
(3) SetBandD (4) SetCandD )

Mrs Kamala has some flowers.
How many more flowers must she buy so that she has §.

flowers altogether?

and make 7.

(1) 1and 4 (2 2and6
(3) 3and 4 (4 3and5 { )



10.

There are 5 boys and 4 girls on a bus.
How many children are there on the bus altogéther’?

(1y 7 (2) 8
3) 9 (4) 10 (

What is the missing number?

(1) 8 2 6
3) 3 4y 4 (

Which equation has an answer more-than7?

(1)

7-0 3) 6+1
(3) 9-9

(4) 4+4 (

Tony has some marbles.

He gives 3 marbles to Josh.

He has 7 marbles left. .
How many marbles does he have at first?

(1) 4 (2) S
3) 9 (4) 10 (

4



S ection B

Questions 11 to 19 carry two marks each.

Show your working clearly in the space prowded for each quest;on an

wnte your answer in the blank provided.

11.

12.

13.

Write the_ numbers in words.

a) 4

b) 8

Colour 2 aeroplanes and 5 cars.

Aeroplanes

Tatal; 18 marks




14. Draw in the number of circles to make 10.
Then fill in the missing number in the number bond to show

the two parts.

OO00OO

° /

15. Write a subtraetion equation. that describes the picture below.




16. Fill in the blanks.

-

hd

- 7. + 2

17. Use the numbers in the number bond to make ftwo

subtraction equations.

(2
(O

>
o
C

10°



18.

19

Look at the pictures below.

There are fewer books than pencils.

Alan and Bala have 9 balls.

Bala has 3 more balls than Alan.

Draw in the number of balls each boy has in the boxes
below.

Alan Bala

11



Section C

Quiestions 20 to 22 carry 4 marks each.

Do these word problems carefully.

Show your working clearly in the space provided for each guestion.
(Total: 12 marks).

20. There are 9 children in a rcom.
4 of them are girls.
How many boys are there?

FRELRITIR
OO0

There are boys.

21. Mary has some stamps.
She gives-5.stamps o her brother.
She has 3 stamps left.
How many stamps does she have at first?

She has stamps at first.

127



22.  Juhaila has 3 candies.
Kayla has 2 candles.
L ucas has 5 candies.

How riany candles do they have altogether?

OLIO

O

They have ‘candles altogether.

& End of Paper @

Please Check Carefully

10
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YEAR: 2014

LEVEL: P1

SCHOOL: NANYANG
SUBJECT: MATHEMATICS
SEMESTER: TERM |

Ql Q2 Q3 Q4 Q10
3 3 2 3 4
1. a) four

b) eight

12. Aeroplanes

e B8 T2 0B TR

e F

13.0,1,4,7,9

1. 5O 00000
15.10-10=0

16.8 7 9

17.8-6=2 .
8-2=6
18.2

19. Alan: OOO
Bala: OOO OO O

20.9—-4=5
21.3+5=8

& S dnd pd e




22.3+2+5=10

16



Paya Lebar Methodist Girls' School (Primary)

P1 Mathematics 2014

-Checkpoint 1
Nae | : ()
Class : Primary 1
1 Skills Acquired Question
Kumbers to 20 ".?
v Able to couhz; the number of-objects in a given set within 20 | . 1
v Able to read and writé numibers-in fg@z}fner_'d/s and words within.20. | &
v . -Able to cormipare and.brdé:f?" numbers. é})'fhrh 20 ' o 2.5
7 Able o add and subtract numbers within 20~ ) ‘ 48
v Able to identify patterns in humber;sequénce | o ' 7
v Able to recoghize and name the position L ' T 3
Y Able to solve one-step word problems with pictorial :
9,10
representation 1-
]

Comments (if any):

Parent’s signature / Date :

267
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" PAYA LEBAR METHODIST GIRLS' SCHOOL (PRIMARY)
Nﬂme H “‘": 2, e it - . ( }

_ Class i Primary 1

Date :____May 2014

Numbars to 20
Clieclpolnt 1 - 2014

Section A: (5 x 1 mark = 5["“‘&'{!‘(3)
Choose the correct answer and puf: a ¥ick in the box .

1. How many wheels are there altogether?

There are '112 £ wheels altogether.

18

2. Compare the iwo sets below.
: 4 o

|
hededrdr

;. more

Setl A has. L fewer. . S'l'.ﬂi'és than Set B,
~ {as many,

269



Numbers to 20
Checkpeint 1 - 2014

O
T-shirt w i§ the third t-shirt from the left.

=

The missing number in is

Four numbers are arranged from the greatest to the smallest.

greatest
‘ 9
The missing number in | 9 is 13
15

270°



_Numbers-fo 20
Checlpolnt 1 - 2014

‘Section.B: (3 x 2 marks = 6 marks)
Wm‘%’z the correct answers. in the blanks provided.

| 6. @) Write the nimiber in word.

13

by Write the word in number

f Wi

nineteen

7. Complete the number pattern below.

8.

271



Numbers to 20
Checkpoint 1 - 2014

Section C: (2 x 2 marks 4 marks)

Read each question car‘eful!y Write your answers clearly in the given
blariks. Marks will be given for the correct equations.

9.  David has 6 storybooks.
Bala has 12 storybooks.
How many storybooks do they have alfogether?

Bald's js’fo'r*.ybooks

They have storybooks altogether.

10.  There are 17 chairs.
8 chairs are sold.
How many chairs are. not sold?

chairs are not sold.

.'Havg. you checked your work?

272"
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YEAR: 2014
LEVEL: P}

SCHOOL: PLMGS .
SUBJECT: MATHEMATICS
SEMESTER: CHECKPOINT |

™~

9

R

15
Fewer
O

~

2

13

a) thirteen
b) 19

6,4

a)6+5=11
by 15-7=8
6-+12=18

10.17-8=9

273
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SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 — ADDITION WITHIN 10

Name: \ ' ( ) ~ Date:

Class: Primary 1 SY/C/G/SE/P/GR - SW1.3.1

For éach question, four options are given.
Choose the correct answer and write its number in the brackets provided.

1. T S LS
Meili Jane
Meili and Jane have pencils altogether.
(1 -1 2) &
) 9 4) 4 ( )

2. Mother bought 3 apples. She bought 2 more oranges than apples.
How many oranges did she buy?

(1 1 (2) 2
3y 3 ' @) 5 ( )

3. -
Ther%;ére telephones in all.
(1) 5 2) 2

3 3 -4 8 (3

411



*5.

6.

i i m e

Robin sent birthday cards to his friends in May.
He sent 2 more cards in June than in May.
How many friends celebratéd-their birthdays in June?

(1) 10 2) 2
(3) 6 4) 4 ¢ )

October November

The above shows the number of pets sold by Mr Wee in October and November.
How many_cats did he sell in the two months?

(1) 1 2 2
3y 3 (4) 4 ( )

( "

o

in a survey, 4 children chose @ to show that they liked the movie,
The number of children who did not enjoy the movie was 2 more than those who

chose @ How many children waiched the movie?

4 10 @) 2
3y © (4) 4

412"



SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 - ADDITION WITHIN 10

Name: ( ) Date:

Class: Primary 1 SY/C/G/SE/P/GR SW1.3.2

Read the questions carefully.

1. Draw a line to show the two parts. Fill in the missing numbers.

(a)
& T
and ‘ majke
(b)

and make

413



2 Colour the books that have a pair of numbers that add up to 8.

Write the addition sentences for those pairs thatadd up to 8.

4147



3. Match the medals to the correct race cars.

415
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SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 — ADDITION WITHIN 10

Name: ‘ () Date:
Class: Primary 1 SY /C/G/SE/ P/ GR
Read the questions carefully.

1. Maftch the pairs of numbers that make 8.

417



Fill in the boxes.

@ 27 .. -5 (b) 3+ =7
() 4+ =10 d) 2+ -3
(©) F3=3 ® | |+2=9
(9) +5=6 (h) r4=8

(@) Circle 3 numbers that make 5.

0 1 2 3 4 5

(b) Cross out 3 numbers that make 6.

418"



*5.

"B.

(c)

Underliﬁe 3 numbers that make 10.

(b)

10

2 more than '2 IS

3 morethan 6 is

5 morethan 1 is

3 morethan 3 is

1 more th_an is 5

3 more than is 9

‘morethan 5 is 7

morethan 3 15 4

wd

419
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SINGAPORE CHINESE GIRLS SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 — ADDITION WITHIN 10

Name: ) Date:

Class: Primary 1 SY/C/G/SE/P/GR

Heuristics: Draw a diagram

Read the questions carefully.
Write your answers and working / reflections in the space provided.

*1.  Sulin puts 10 cookies on 2 plates.
There are 2 more cookies on Plate X than on Plate Y.
Draw the cookies on the plates and write fwo addition sentences.

Working / Reflections:

421



Heuristics: Guess and check

*2_ Fill in the boxes with the following numbers:
0 2 3 5 6 8

The numbers along each line must add up to 9.
Each number can be used once only.

Answer:

" Working / Reflections:

4228



SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 —ADDITION WITHIN 10

Name: ( ) Date:

Class: Primary 1SY/C/G/SE/P/GR SW1.3.5

Read the questions carefully.
Write your answers in the space provided.

1. Wanyi has 5 books.
Her sister has 2 books. .
How many books do they have altogether?

Wanyi

Wanyi's sister

O

423



2. Razak ate 5 apples.
Sarimah ate 3 apples more than him.
How many apples did Sarimah eat?

@mmzak

Sarimah

O

Jim lost 2 sharpeners.
He had 7 sharpeners left.

How many sharpeners did he have at first?

424°



Karen ate 2 gingerbread.
She had 4 gingerbread left. -
How many gingerbread did she 'have at first?

425
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YEAR: 2014

LEVEL: Pl

SCHOOL: SCGS
SUBJECT: MATHEMATICS
SEMESTER: UNIT 3

Q1 @ @3 Q4 Q5
3 4 4 3

7. a) e 9
(®

3 and 5 make &

b)

St

6 and 4 make 10

8. colour: [3,51,{8,0],[2,6].[44]
3+5=8 §+0=28
4+5=9 2+6=8
4 +4=§ 2+7=9

9.3>1+2
352>0+5
8§2>3+5
9—=>6+3

10.3-> 5
6->2
4->4
0->8
1> 7

427



11.2)3 b) 4

c) 6 d) 6
e} 0 )7
g} 1 hy4

12. al) Circle: 0, 1,4
by Crossout: 1,2, 3

13.a)4
b) 9
c)6
d) 6

14.2)4
b) 6

15.2)2
b) 1

16. X: 6 cookies
Y: 4 cookies
6+4=10
4+6=10

2+1+6=9
0+14+8=0
3+1+5=9

18.5+2=7
19.5+3=8
20.7+2=9
21.2+4=606

428°



Parent's Signature:

ST. ANDREW'S JUNIOR SCHOOL
PRIMARY 1 MATHEMATICS 2014
Topics: Numbers to 20, Addition and Subtraction within 10, Ordinal
Numbers
Topical Test 1

Name: ( ) Date:

Primary 1 - Marks:

20

Show your working in the space below each question clearly and write your
answers in the spaces provided. (10 x 2 = 20 marks)

1)  Wirite 18 in words. (2m)

2) Circle the 8" shape from the right. (2m) ¥

ONOE<AQ I

3} Sis more than 5. (2m)

P1 Maths (2014) Page 1 of 3

328



4) Filiih thie blanks (4m)

n 2 3 4 5
2 4 ' 6

3 —5 8
4 6 7 8 9

5) Show the following number statement by crossing out the correct number of
items and fill in the blank. (2m) ’

10-2=

6) Fillin the number bonds. (2m)

P1 Maths (2014)

Page20f 3

330°



7} Write one addition number sentence and one subtraction number senience
for the diagram below. (4m) !

vhig vhe vhg

A A A "’O""’OD QOD’
vig vli¢ ©vay¢ pgda DyR AyA
L] > < DQOD

_
O
ofo

83y Fill in the blank. (2m)

12

A
g
<] =g
9
+
i

End of Paper
Have you checked your work?

P1 Maths (2014) Page 3of3

331
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YEAR: 2014

LEVEL: P!

SCHOOL: ST ANDREWS
SUBJECT: MATHEMATICS
SEMESTER: TEST ]

1. eighteen

Crossout 2
6. 5,5

7. 6+3=9
90—-3=6

333
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Class: Primary 1 .

-Name: N ) Date:

TANJONG KATONG PRIMARY SCHOOL
PRIMARY 1 MATHEMATICS
20414 TERM 1 REVIEW TEST

Parent’s Signature

30

Pupils are able to: Question Needs
Number Improvement
Numbers to 10
1. |-Count and write the number-of objects. 1
2. | Read and wrife numbers in words. 2
3. | Compare nuffibers. 4,5
4. | Arrange ninibers in order. 3,6
Number Bonds |
1. | Make number bonds in different ways. 8
2. | Make number bonds for a given 7
number.
Addition within 10
1. | Add two numbers within 10 . 9,10
2. | Write addifion sentences 11,13
Subtraction within 10 '
1. | Subtract two numbers within 10 12
2. | Write subtraction sentences 14

457



‘ £
T+ is not hoiw good you are. It is how good
| you'want tobe. ~Paul Arden

For each question, show your workings clearly and write your answer in the

space provided.

1 Count the following objects. Write the number in The box on the right.

(2 marks)

2 Write the following numbers in words. (2 marks)

5

7

458"



3. Fill in the missing numbers. (2 marks)

(a) 2 3 5 6

(Y | 9 8 o 5

4a. Circle the group that has more objects. (1 mark)

"
J

459
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5a. Compare the fwo numbers. Then fill in the missing numbers. (1 mark)

s smaller than

5b. Circle the greatest number. (1 mark)

E:ﬁ]

6a. Arrange the numbers in order. Write your answers on the line given.
Begin with the greatest number. {1 mark)

ODIOROAED

PY R PP S AL R PR SO .

greatest |

6b. Arrange the numbers in order. Write your answers on the line given.
Begin with the smallest number. (1 mark)

OIORORED

smallest

460°



7. Look at the picture below. Complete. the number bond based on this
picture given. )
(2marks)

8. Complete the number bonds below to make 10. (2 marks)

461



el

10. Look at the pictures below. Form 2 addition sentences based on the

pictures below. (2 marks)

462}



1. Make 2 addition sentences using the numbers and signs below. (2 marks)

12 Fill in the number bonds. Complete The number sentences. (2 marks)

4863



Cormplete the story sums below. (3 marks each )

13.

1

;{

T have

My mother gave me

A

1
l
1
l
|
|
|

,

How many ’__ﬁ do I have altogether?

1O L

T have

=

altogether.

464°



Tom has at first.
He gave to his friend.
How many does he have left?

O L

465
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YEAR: 2014

LEVEL: PRIMARY 1
SCHOOL: TANJONG KATONG
SUBJECT: MATHEMATICS
SEMESTER: TERM.1

1. 4
9
2. Five
Seven
a)4d
b)7,6
4. a) Circle the group of pens
b) circle the group of dogs
5. a)4,10
b) 10
6. 2)10,8,6,3
b)2,5,7,9

(W8]

5
4
8.8

e’e

T7+2=9

-
5

10.44+3=7
34+4=7
11.6+2=38
2+6=38

12.
©

467
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Holy Innocexts” Primary School
Topical Test 32014

Primary One

Mathematics

Duration of Time: 50 minutes

Instructions:

i. Do not turn over this page until you are told to deo so.

2. E‘:ﬁiiew all instructions carefully.

3. Answer all questions.

Obtained Max.
Section A 18
Section B 20
Section C 12
Total 50
Names ; ' Date : 21 August 2014
Clase 2 I Sincerity ( ) Parent’s Signature:

1672



SECTION A: {9 x 2marks )
For each question, four options are given. One of them is the correct answer.
Choose the correct answer and write its number in the brackets provided.

The pictures below show 4 threes.

4'threes is the same as

(1) 4+3 (3) 4+4+4

(2) 3+3+3+3 4) 4+3+3+3 ( )

2} The pictures below show 2. eights

QOO0 OO0
OOBO6| |[0000

What is the missing number in the box below?

2eights =2} ?

() 8 (3) 14
2) 2 4 16 ( )
i
Property of Holy Innocents” Primary School Score:

164



.3)

4)

5}

The pictures below show 6 x 3,

28 5 () 18 (8

What is the missing number in the box below?

6%¥3 = ?
(1} 6 (3) 18
2y 9 (4) 24

The pictures belowshow 2 + 2 +2+2 + 2,

(2n)2

What is the missing number in the box below?

2+242+2+2= | 7 |x2

(1) 5. 3) 20
0y 2 4) 10

3 children shared 12 cookies equally. -
How many cookies does each child get?

1) 9

2) 15

Property of Holy Innacents’ Primary School

18R



8)  There are 3 muffins in each box.
How many muffins are there in 3 such boxes altogether?

7}  Jamal places 20 slices of cakes equally onto the plates below.
How many slices of cakes are on each plate?

1) 5 (3) 24

(2) 16 4) 4 ( )

8)  Look at the equation betow.

What is the missing number in the box?

?2 |+9=10x3

Ok @) 30

2) 21 4) 4 , ({ 5

3 | E
Property of Holy Innocents” Primary School Score:

166°



8)  Shirley buys 16 oranges as shown below. 4 of flie oranges were rotien
and she threw them away. She then repacked the remaining oranges
equally into 2 bags. How many aranges are there in each bag?

(M 6 (3) 12
@2 8 4) 20 ( 7
4
Property of Holy Innocents® Primary School Score:

1R7



SECTION B: (10 x 2marks )

For each question, show your workings clearly in the space below each
questicn and write your answer in the boxes provided.

Give your answers in the units stated.

10) Maich the following:

3 groups of 5 e o

11)  Study the pictures below carefully.

How many groups of 5 party hats are there?

There are groupé of 5 party hats.

12)  Study the picture below.

A beetle has 6 legs. If there are 18 legs altogether,
how many beetles are there ?

There are __| beetles.

Property of Holy Innocents® Primary School Score:

168°




13} Study the pictures below carefully.

Circle the box f boxes pelow to show the correct groupings.

{

4x5 }(5groupsof4} ( 4 fives ]

14} There are

20 paper clipson a table. If each pupil takes 3 baper

clips, there will be 2 paper clips left. Howmany pupils are there?

There are

18)  Study the

V= 4= V= = =

pupils.

picture below.

How many trophies are to be taken away to make 4 groups of 27

trophies are to be taken away to make 4 groups

Property of Holy Innocents’ Primary School Score:

of 2.

1R0



Study the following-pictures and answer Questions 16, 17 and 18.

16)  How many groups of whistle ‘are there?

There are groups of whistles.

17)  Fill in the numbers below to form an equation to represent the total
number of whistles above.

18)  Write a multiplication equation in the boxes below to represent
the total number of whistles shown above.

Ol -

Property of Holy Fnnocents® Primary School Score:

170°



19)  Freddy has 5 story books and Uluma has 9 story books at first.
If they decide to share the story books'equally_, how many -

story books will each of them get ?

Uluma .

Freddy

Each of them will get story books.

Property of Holy Innoteats® Primary School Score:

171



SECTION C:(3 x 4 matks)
Solve the following problems. Show your workings clearly. Wiite the number
sentences and answers in the given spaces.

20)  Rahim puts 4 cabbages into each bag as shown below.

How many cabbages aré there in 5such bags?

There are ) cabbages in 5 bags.

Property of Holy Inpocents” Primary School Score:

172"



21)  Hui Wen has some bhalloons.
She gives 3 balloons to each of her 7 friends.

a) How many balloons does she give in all?

She gives ; balloons tn all.

by  After giving away the balloons, Hui Wen still has 8 balloons left.

How many balloons did she have at first?

She had . balloons at first.

16 ‘
Property-of Holy Innocents” Primary School Score:

172



22) Edward had 15 ice cream cones.
He put all the ice cream cones into containers of 5.

a) How many containers were there?

There were ____containers.

b) After that, his mother gave him another 8 more ice cream cones.
If he put them into the same number oficontainers as in part (a) equally,
how many ice cream cones are there in each container now?

A

Thereare ice cream cones in each
container now.
- End of Paper -
» 11
Property of Holy Innocents” Primary School Score:

174"



Year: 2014

fevel: P1

School: Holy innocents’ Primary School
Subject: Mathematics

Semester: Test 3

Q1 Q2 Q3 Q4 Q5

Q6

Q7

Q8

Qe

2 1 3 1 4

Q10) 3 groups of 5 ———» 54545
5x4 ——— 5 fours
Q11 3
Q12) 3
Q13) 4x5
4 fives
Q14)6
Q15) 3
Q16) 6
Q17) 2+2+24242+2=12
Q18)6x2=12
Q197

Q20) 4+4+4+4+4=20
5x 4 =20
There are 20 cabbages in 5 bags.

Q21) 3+3+3+3+3+3+3=21
7 x3 =21

- She gives 21 balloons in all.

Q21b) 21+8=29
She had 29 balloons at first.

178



Q22a) 3+3+3+3+3=15
3Ix5H=15

There were 3 containers.

Q22b) 5+2=7

There are 7 ice cream cones in each container now.

176°



#Hul¥lpiication ond Division
Revision 3 - 2014

PAYA LEBAR METHODIST GIRLS' SCHOOL (PREMARY)

dName I _ . ( )
Class .1 Primary 1 ' | /10

Date o

Parent's Signhature:

Section At {3 x 1mark=3 marks)
'Choose the correct answer and put a tick in the box &.

1,-3 tours =

-+

w

0 [ s
P4
)

LS

Arde 4

N

2. 2 groups of 6 is pot the same as

606
2+2+2 121242

3. T T+ T +T7 +T=5x

o

3158



Multiplication and Division
Revision 3 - 2014

Seciion B: (2 x 2 marks = 4 marks)
Reed zach question carefully. Write your answers clearly in the given
bianks. Marks will be given for the correct working.

4 Mazel collects stickers.

She puts 5 stickers equally info each envelople.

How many envelopes does she need?

She needs _ envelopes.

3. Mrs Tan bought 16 apples. She put the apples equally info.8
boxes. How many apples were there in each box?

{ Circle o show the number of apples in each box.)

(SRR

-

316



Muliiplication and Bivision
Revision 3 ~ 2014

Section € {1 x 3 marks = 3 marks)

Read the guestion carefully. Write your dnswers clearty in the given

blanks. Marks will be given for the correct equation.

6. A cat has 4 legs. How many legs do 10 cdts have?

Wcatshave ___ legs

317
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Year: 2014

Level: P1

School: Paya Lebar Methodist Girls’ School
Subject: Mathematics

Semester: Revision 3

Q1) 4+4+4

Q2) 242+2+2:+2+2

Q3)7

Q4) 3

i

EEEgEEgE EE
{mm—— Ty T e
Spprrai? e et S v

Q6) 10x 4 =40
10 cats have 40 legs.

319
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Nanyang Primary School
Mathematics
~ Primary 1
Term 3 Combined Topical Test

_ Name _ Marks: {40

Class: Primary 1( )

Date: 25 August 2014

Duration: 45 minutes

Section A

Questions 1 to 10 carry 1 mark each.

For each question, four options are given.

One of them is the correct answer.

Choose the correct answer and write its number (1, 2, 3 or 4) in the
brackets ( ) provided. (Total: 10 marks)

1.  Look at the three jars below.

How many marbles are there in the jars altegether?

(ty 25 2). 26
(3) 27 (4) 30 ( )

K3
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2.

Complete the number pattern below.

LR

(1y 24 (2) 32

(3) 33 4y 42

50 is 3 tens 8 ones.

(1) smaller than (2) equalsto
(3) greater than (4 the same as

Look at the equation below.

48 @ 27'@

What is the missing number?

(1) 21 (2) 41
(3) 65 (4) 75

AR



Wendy has 3 picture cards as shown below.

3 points 6 points 3 points

What are the total points on all the cards?

(1) 9 ) 11
(3) 14 4y 17 ( )

Annie read a book at the time shown on the clock face
below.

What time did she read the book?

(1) Half past2 (2) Half past3
(3) 2 0o'clock (4) 6o'clock ( )

56



| am a number greater than 15 + 28 but smaller than 25 + 20.
What number am 1?

(1) 43 (2) 44
(3) 45 (4)

Mrs Tan had 86 apples.

She gave some apples away.

Then she had 29 apples left.

How many apples didishe give away?

(1) 53 (2} 57
(3) 58 (4) 63 ( )

John had some stamps.

After Eric gave John 7 stamps, John had 62 stamps in the
end.

How many stamps did John have at first?

(1) 55 (2)
(3) 69 (4) 76 ( ) -

K7



The foliowing diagrams show Lucy’s morning in school.

Arrange the activities to show the correct order.

1 st 2I’ld 3l’d 4th
(1) _|Assembly |Maths At English
(2) |Assembly |English Maths Art
(3) |Assembly |Af Maths English
(4) |Assembly |Art English Maths
( )
5

58°
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Section B
Questions 11 fo 19 carry 2 marks each.
Show your working clearly in the space provided for each question and

write your answer in the blank provided.
(Total: 18 marks)

11.  (a) Write 4 tens 2 ones in numeials.

(b) Write thirty-seven in numerals.

12. Find the sym of 10 and 35.

© Ans:

13.  Arrange the numbers from the greatest.to the smallest.

99 P
36 29 -

59



14. Kayla has 61 stickers.
May. has 26 more stickers than Kayla.
How many stickers does May have?

Ans:

18 /\ | /\

4 3 3

Using the digits shown above, Angeline decided to form the
smallest two-digit number, using each digit only once.
What number did she form?

Ans:

16.  What is the missing number in the pattern below?

Ans:

60°



17.  Tom and Jerry played basketball at 9 o'clock.
They played basketball for one hour.
At what time did they stop playing basketball?
- Circle the clock that shows the correct time.

18.  What is the missing number?

12 | 6 \ 23 |3 ? |32
\ 18 / \ 26 / \ 84 /
Ans:

19.  Peteris taller than Janet,

Janet is shorter than Tammy but taller than Ken.
Who is the shortest?

Ans:

A1
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Section C K

Questions 20 to 22 carry 4 marks each.

Do these word problems carefully.

Show your working clearly in the space provided for each question.
(Total: 12 marks)

20. Tom collected 26-seashélls from the beach.
Kimberly collected 19.more.seashells than Tom.
How many seashells did Kimberly collect?

OLIO

Kimberly:collected seashells..

21. Si Ming and Michelle have 97 stamps altogether.
Michelle has 28 stamps.
How many stamps does Si Ming have?

OO

Si Ming has stamps.

62"



22. The diagram below shows the number of erasers some
children collected.
Gina collected the most erasers.
Harry collected the fewest erasers.

13 51

36 62

Fill in the blanks.

a) Gina collected erasers.

b) Harry collected erasers.

c) How many more erasers did Gina collect than Harry?
Gina collected more erasers than Harry.

© End of Paper ©
Please Check Carefully

10
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YEAR: 2014

LEVEL: Pl

SCHOOL: NANYANG

SUBJECT: MATHEMATICS
- SEMESTER: TERM 3

Q1 Q2 Q3 Q4 05 Q6 Q7 08 Q9 Q10
3 3 3 4 4 i 2 2 I 3

11.2) 42
b) 37
12.45
13.99, 68, 36, 29
14.87
15.34
16.43
17.

18.52
19. Ken
20.26 +19=45
21.97-28=69
22. a) 84

by 13

c) 84 - 13=71
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Paya Lebar Methodist Girls” School (Primary)”
P1 Mathematics 2014

Checkpoint 3

Name : _ ) ¢ )

Class : Primary 1

[SKills Acquired | . * T Guéstions
f.Chapter 3:- Multiplication-Within 40 o
“/ " Able o recognise equal groups- and find the Total number of items: .
inequal groups by repeated addition 196
7 Able to solve one-step word prob'fem involving.muttiplication with- '8.
pictorial representation. '
Chapter 4: Division Within 20
7 Able to recognise equal groups in division 2
7 Able to divide a quantity info equal-groups given the number of 4
groups ( Sharmg)
v Able to dfwde a quantity into equal groups given the number of ' 3
items in each group (Giouping}
v Able-to solve one~sfep'wofd?pr05!em invoiving division with pictorial ' -
representatfoﬁ
Problem Solving Strategy
v Abfe to solve word problem using the heuristic, Make a List 9

Teacher's Comments (if any):

Parent's signature { Date :
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PAYA LEBAR METHODIST GIRLS' SCHOOL (PREMARY)

Cheelgpoint {3)
(1B) Chapters 3-4

‘Name : _ | ( )

Class Pmmcxryi |

15

Date : 29 September 2014

Sacﬂon A: (3x 1 mar'k 3 marks)
Choose the correct answer and put a tick in the box .

1. Look at the picture.

How many pencils are there in total?

B+ H+H5+H+H+H

6+6+6+H6+6+6

6+H+6+6+6

2. Which set shows equal groups of 3 squares?

Set A

Set B

Set C

286



3. Divide 14 lsllipops info bags of 2. (15 Craptorc 3o

There are | bags of lollipops.

Section B: (4 x 2 marks = 8 marks)

Write the correct answers in the boxes provided.

4. Draw an equal humber of eggs-into each basket.

There are | eggs in edchibasket.

287



Checkpoint {3)

o . (18) Chapters 3-4
5. Fill in the boxes to complete questions (a) and (b).

@)3+3+3+3+3+32] | %

E) 5 fours =

6. Draw more / in.each square fo show 3 groups of 5..

Marvy has 18 apples.

She wants To put them equally onto 2 rays.
2 % =18

Each fray has apples.

288



Cheelkpoint (3)
{1B) Chapters 3-4

Section €@ (2 x 2 marks = 4 marks)
Read each question carefully. Write your answers clearly in the given
Blanks: Marks will be given for the correct equations..

&.- There are 7 ¢hairs in the room.
Each chair has 4 legs.
How many legs are there alfogether?

There are | legs altogether.

289



9. Mrs. Tan goes to a toy shop o buy some toys.
She wanfs to buy 2 different types: of foys.

Checkpolnt (3)
(18) Chapters 3-4

If she has 3 different types of Toys to choose from, how many

choices doés she have?

| doll toy car

Mrs. Tan has choices.

football

End of Paper

> :

Did you check your work?

5
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“YEAR: 2014

LEVEL: P1

SCHOOL: PLMGS
SUBJECT: MATHEMATICS
SEMESTER: CHECKPOINT 3

6+6+6+6+6+6
Set A

7

5

a)6,3

b} 20

15

9

7T x4=28

P b

R

doll | Toy car football

v

J v

L;Jt\.)-—A'Z
e

v v

She has 3 choices.
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Pei Chun Public School
Modular Assessment 2 — 2014
Mathematics
Primary 1

Name: . B ¢ ) Date: 26 August 2014

Class: Primary 1 ___

Parent’s Signature:

Time: 45 min o Marks:

MAZ2

=

Maths Teacher:

AA2

10

Sectéon A (10 x 1 mark)

1. Write in words.

98

~ 2. Count and write the correct number in the box.

000 00 0o O

ERENNNEEEE Y IENNINENEE

3. Complete the number pattern below.

58,60, | . l,64,66,68,70

MA /P17 MA2 /2014 Page 10of6

{Go on o the next page}

201



Do these sums.

4. The number that comes just before 31 is

5. 78is inbetween 77 and

6. 10 more than 88 is

7 17
+ 12

8 86
— 52

0. ‘ .
EEEEIEEE

G twos =+ |
10. 4+4+4+4+4+4+4= x 4
MASP1/MAZ /2014 Page 2 of § {Go on to the next page)

202



Section B { 3 x 2 marks )

11. Arrange the numbers from the smallest to the greatest.

smallest ' greatest

12. Based on the piciure below, write a multiplication equation.

TN

13. Complete the equation.

17 - =7+1

MAIP1IMAZ2 /2014 Page 3of6 {Go on to the next page)

203



Section C_{ 3 x 3 marks )

working and answers must be

Work out the problem sums below. All

clearly shown.

14. There are 5 children.

Each child has 7 pencils.

How many pencils do they have altogether? .

i fons uaur E...ah&i_.r
D) T e

pencils altogether.

They have

Page 4 of 6 {Go on to the next page)

MATP1/MAZ 12014

204



15. Mrs Tham baked 42 cookies on Monday.
She baked 35 cookies on Tuesday.

How many cookies did she bake altogether?

Monday Tuesday

42 35

She baked cookies altogether.

MAIP1IMAZ /2014 Page S of 6 {Go on to the next page}

205



16. Tom has 100 éﬁckers. _
Siti has 39 fewer stickers than Tom.

How many stickers does Siti have?

100
Tom
Siti 39
2 -
Siti has stickers.

End of Paper

Setby : Mr Winson Kok and Mrs Foo ~ Lim Siew Lee
Vetted by : P1 Level Teachers

MA S P1TMAZ /2014 Page 6of B
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YEAR: 2014

LEVEL: P1

SCHOOL.: PEI CHUN
SUBJECT: MATHEMATICS
SEMESTER: CA2

Ninety-eight
47
62

-
2

79

98

29

34

12

10.7

11. 18, 29, 81,92
12.4 x 7 =128
13.9

4.5 x 7 =35
15.42 +35="11
16. 100 -39 =61

e A AR o et

e

207
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ROSYTH SCHOOL
PRIMARY 1
MATHEMATICS
Term 3
Toplcal Test 2

Name: | ) Marks: 30
Class: P1 - ‘ Date: 22 August 2014
Time: 40 minuies Parent’s Signature:

Section A {4 X 2m)

There are B questions in this section. Read the questions carefully.

For Gl to Q4, choose the correct answer and write its number 1,2,30or4
int The brackets provided.

NERNENE

1. 34+3= AEEREEE

EERENER

) 3t 2) 36

3 37 4 38 T )

2. 49—-5= ERENEEEN ]

=

EENEE Ry

1) 43 2) 44 RNy

A T T I N g et

3) 45 4) 54 EENINEERE

NENEEEEEN

129



A
{ .

. 2 tens + 66 =

1) 46 2) 64

3} 68 4) 86 ( 3
0000000000
900009

4, 90 — 1fen =
1) 80 2) 89
3) 9 4 100 £ 3
2

130°



Section B (9 x 2m)

There are 9 questions in this seciion.

Read the questions carefully. Write your answer in the space provided.
Show your workings clearly.

5. Add the numbers below. Show your working clearly.

8 +36 = | - Tens| Ones
i | 8
+ 3 6
. ) Tens | Ones
6. 50 + 26 = 5 | O
+ 2 6
7. 75 — 40 = Tens | Ones
7 15
-4 |o

131



Tens , Ones
8. 38 + 49 = - ;

9. b tens 8 ones — bones =

10. 8 more than 62 is

11, Subtract 28 from 8l The answer is

132°



12, Look for the patiern o complete the answer.

13. Choose 3 numbers from the box fo form a subtraction equation.
Each number can only be used'once.

20 [os [
OO

133



Section € {2 X 2m}

There are 2 questions in this section,
Show your workings and equations clearly in the space provided.

14, Joshua baked 46 cookies: Working

He baked 14 cookies less than Wendy.
How many cookies did Wendy bake?

OLOL o

Wendy baked cookies.:

15. David has 87 stamps. Working

He gave 42 stamps to Jane.

How many stamps hos he left?

OLIO .

David has stamps left.

-— End of Paper -—-

6
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YEAR: 2014

LEVEL: Pl

SCHOOL: ROSYTH
SUBJECT: MATHEMATICS
SEMESTER: CA2

Qi Q2 Q3 Qd
3 2 4 1

.54

.76

.35

.87

9.52

10.70

11.53

12. 68

13.64 -30=34
14.46 + 14=60
15.87 —42=45

0 ~3 O LA

135
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SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
: PRIMARY. 1 MATHEMATICS.
UNIT 6 — SHAPES AND PATTERNS -

‘ Name: ( )

Class: Primary 1 SY /C/G/SE/ P /GR

Read the questions carefully.

1. Look-at the picture and colour the

(@) 1 yellow
) N\ red

(©) O biue

2. Study the picture and answer the following questions.
l l l |
¢
o
Q . O
OO O 0O O ?

(a) There are_ A squares.

(b} There are circles.

(c} There are rectangles.

(d) There are ' more circles than squares.

(e)" There are __ | fewer squares than reclangles.

1

383



. Match the shanes 1o the shaded parts.

(@ o o
(b) o /\
©)
[ ]
©) .
("e) °

o

384"



Name:

S!NGAPORE CHINESE GIRLS.SCHOOL (PREMARY)

" PRIMARY 1 MATHEMATICS
UNIT 6 — SHAPES AND PATTERNS

(

Class: Primary 1 SY/FCTGfSETP7 GR -

For each question, four options are given.

Choose the correct answer and write its number in the brackets provided.

1.

Which shape does not belong to the group?

(1)
(3)

)

Date:

SW1.6.2

[P

A 2y C
B 4y D (
Some pupils were asked to name the shapes.
Who has answered correctly?
Pupil Answer
Siti rectangle
Razak circle
Hamsa square
Aileen triangle
Siti (2) Hamsa
Razak (4)  Aileen (

385



Which of the above does not belong to the group?

(h A (2) B : .
@) C (4) D ( )

Which shape comes next?

44 I )

(4)

386°
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What comes hext?

~
<

—~—
-
—

387
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SINGAPORE CHINESE GIRLS! SCHOOL (PRINARY)
- PRIMARY 1 MATHEMATICS® -
UNIT 6 — SHAPES AND PATTERNS

Name: ( ) Date:

Class: Primary 1 SY / CFGISEYPTGR

Read the questions carefully.

1. Look at the patterns. Draw what comes next.

Mol elS

(b)

(c)

389



2. Lookat the diagram below and tick (v y the correct answer.
Grou-p_A Group B Groﬁp C
The above are grouped according to their colours
shapes \/q(
sizgs ( )
3. Colour the shape-that is the same as the one given on the left.

*4.  Draw the shape that comes

390
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SlNGAPORE CHINESE GIRLS SCHOOL (PR!MARY)
“PRIMARY 1 MATHEMATICS
UNIT6 - SHAPES AND PATTERNS

Name: ( ) Date:

Class: Primary1SY/C/G/SE/P/GR SW1.6.4

Read the questions carefully. Write your answers in the space provided.

1. How many squares are there in the following figures?

(a) (b)

squares : squares

P How many triangles arethere in the following figures?

(2) (b)

triangles triangles

391



For question 3, write your answers in the space prowded

Write your reflections in the space prov:ded

3.  How many rectang!es are there in the following figures?

@)

rectangles

Reflections:

(b)

rectangles

392"



- SINGAPORE CHINESE GIRLS! SCHOOL (ERIMARY)
, PRIMARY 1T MATHEMATICS
UNIT 6= SHAPES AND PATTERNS

Name: ( ) Date:

Class: Primary 1SY/ C/ G/ISE/P/ GR SW1.6.5

Read the questions carefully. Write your answers in the space provided.

*1.  Draw the missing shapes.

N/

Answer:

*2.  Draw the missing shape.

Answer.

393
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YEAR: 2014

LEVEL: P1

SCHOOL: SCGS

SUBJECT: MATHEMATICS
SEMESTER: UNIT 6

2.a)2
by 1l
c)9
d)9
e)7

4.3
5.3
6.1
7.1
8.2

395



b | &

10. sizes

.

2 (AN

13.2) 10
b) 7

14.2) 3
b) 8

15.2) S
b) 9

16.

17.
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Parent’s Signature:

ST. ANDREW’S JUNIOR SCHOOL

PRIMARY 1 MATHEMATICS 2014
Topics: Numbers to 100, Addition and Subtraction within 100,

Picture Graphs

Topical Test 3
Name: S { ) Date:
FPrimary 1 - . Marks:

40

Skow your working in the space below each question clearly and write your
answers in the spaces provided.

1) Write 95 in words. (2m)

2} Fillin the missing numbers. (2m)

T TN
60 |\(| 64 ) 68)

)
N N

TN
A%

3} 78is less than 90. {(2m)

1 Maths (2014) Page1of 7

341



4} Complete the following questions..

ay 5 3
+2 4
c) 3 9
+3 2
ey 7 4
-3 8

(6m)

b)

d)

3
+1 7
9
-4 7
0
-4 7

5) Show the following number statement by colouring the correct number of

© ftems and fill in the blank. (2m)

]

HENENEE

NIRNRRRERD

HINRENRERN

LTI

L TTTTTTIT]

NS T I OO O
N Pt
| e o O
'_"‘——.—"—r"""""'“u—-—-
_—— 1 —d .

45 + 34 =

P1 Maths (2014)

poooo

Page2of7
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Cis
et

Circle two numbers that has a difference of 27. (2m)

42

Page3of 7

343



The picture graph below shows the types of fruit in a shop. (8m)

Types of fruit

(000000

Apple

Pear

()OO0

Orange

Watermelon

&oooooo

Banana

Each () stands for 1 fruit

8) There are

9} There are

10) There are

11) There are

P1 Maths (2014)

bananas and watermelon altogether.

more watermelons than oranges.

fewer pears than apples.

fruits altogether.

Pagedof 7
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For questions 12 to 15, show your working clearly in the space below each

guestion. {4 3 3 = 12 marks)

Ve

o Completa the given models by writing the correct number in the given

bracket and label them.
s \Write yvour number sentences and answers in the spaces provided.

4T

2} Thers were 78 children at a carnival,
40 of them were girls and the rest were boys.
How many boys were there?

(

)

v

41\

v
N

N

A

Thera were

P1 Maths (2014)

@

boys.

Page 50f 7
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13) Mrs Chanbuys 45 apples.
She also buys 27 oranges.
How many fruits did she buy altogether?

() )

v
A
b

N

v

N

O O

Mrs Chan bought fruits altogether.

14) There are 46 flowers.
There are 16 more butterflies than flowers.

How many butterflies are there?

( )

7

A

v

v

A

1O O

There are ~ buttertlies.

P1 Maths (2014)

Page 6 of 7

346"



15) Osman has 59 stamps.
He has 12 more stamps than David.
How many stamps does David have?

A4

g

¥

o

A
v

David has stamps.

End of Paper
Have you checked your work?

P1 Maths (2014) Page 7 of 7
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YEAR: 2014

LEVEL: P1

SCHOOL: ST ANDREWS
SUBJECT: MATHEMATICS
SEMESTER: TEST 3

ninety- five
72,76

12

a)77

b) &5

c) 71

d)42

e} 36

)43

b N

5. 79

6. 50 &23

7. a)70
b) 50

10.
11.26

%]

40 ?

A
v
A

Y

12.

78
78 — 40= 38

45 27

Y

A
A4
A

k'

13.

]
¢

45+27="T72

Y

348



14. 46

A
v

flowers
butterflies
?
46+ 16= 62
?
15. David
e 12,
Osman
59
59— 12=47

350°



. TANJONG KATONG PRIMARY SCHOOL

SUMMATIVE ASSESSMENT
2014 MINI-TEST TWO
PRIMARY 1 MATHEMATICS

Name:. {
Class: Primary 1
Y 30

Date:
Parent’s Signature :

Paper Duration: 1 hour

Pupils are able to: Question Needs
i Number Improvement

Numbers to 100

1. | Count and write numbers in a given set 1

2. | Read and write numbers in numerals and words 6

3. | Compare Numbers and order numbers to 20 7

4. | Recognize number notation and place values 4

Addition & Subfraction within 100 )

1. | Add. 3 1-digit numbers 2

2. | Adding a 1 digit number from a 2-digit number 8

3. | Subfract a 1 digit number from a 2-digit number 9(a). (b)

4 1 add two 2-digit numbers using the standard algorithm 10

5 | Subtract a 2-digit number from another 2-digit number 5 14

using the standard algorithm ' '

6. | Solving word problems within 20 13

Numbers Showing Position

1, I i 3,11

Use ordinal numbers fo tell order and positions
% | Use position words to tell relative positions 12

469



SEdtionA: (5 2 m:'a’fkg)

Choos  the

nd write its numbers (1, 2, 3 or 4} in the

nswer.a

ecta

* *%Awﬁmwﬁ
99Xk
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|t dedededededet
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2. \What is the missing number in the boX below?

1y 8

2) 9

3y 14

4 15 ( )
3. The pencil case is from the right on the table.

* . ..,:
My !
oy .
i z
i
e

lamp  clock pencilcase fan

1 ) 2nd
2) 3rd
3) 4t
4 5" ( )

471



4. 8tens +5o0nes =

5.

1)

2)
3)
4)

What is the missing digit in the box?

R

AW N e

13
30
80
85

472°



Section B: (7 x. 2 marks)
Read the questions carefully. Show your working clearly.
Write the correct answerin the space given.

6. Wrte 95 in words.

Ans:
7. Arrange these numbers in the box from the greatest to the
smallest.
|
27 59 46 |
greatest
5

473



8. Whatis48 + 9 = ?

- Use the space below to show your working clearly.

9. Find the answer.

e s,

474°



10. Add the greatest number to the smallest number.

The answer is

59

475



"s?ft;udy the picture below and danswer questions 11 and 12.

1. is 5™in the race.

12. Mark is running before ‘ in the race.

-
W
X

476"



. Section. C: (2x3 marks)
:Reaci the questlons carefully. For each question, show your

éduations on the given line in the middle of the question.

13. Isaac bought 9 burgers. Lucas bought 8 burgers.

How many burgers did the 2 boys buy altogether?

They bought burgers altogether.

477



14. Giselle baked 19-cupcakes.
She gave away 12 cupcakes to Ashley and-Alexi.

How many cupcakes did Giselle have left?

Giselle had cupcakes left.

~End of paper~

478"



YEAR: 2014

EEVEL: PRIMARY 1
SCHOOL: TANJONG KATONG
SUBJECT: MATHEMATICS
SEMESTER: TEST 2

Q1

Q2

3

Q4

2

)

2

4

6. ninety — five
7.59, 46,27

8.57
48
o+
09
57
9.a)26
b)52
10. 71

11. Suzi
12. Lexi

13.9+8=17
14, 19-12=7

479
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Temasek Primary School
Mathematics Topical Test 3

Length
Numbers to 40 20
Addition and Subtraction Within 40 -
Name: | )
Classt.P1 Date:
Dear Parents,
Please help your child to revise the following dreas:
S/N Areas to Revise On... Question
No. No.
1. Counting and writing numbers in 1,8
numerals and in words
2. Comparing and ordering humbers 2,3
3. Number patterns ; 10
4. Adding a 2-digit number and a 1-digit 4 11
number with/without regrotuping - -
5. Ssubtracting a 2-digit number from 5,12
another 2-digit number with/ without
regrouping
6. Adding three 1-digit numbers 6
7. Using place value to show numbers Yo S
40
8. Solving word problems involving 15,16
addition and subtraction )
9. Measuring and comparing the lengths 7,13,14
of fwo or more objects in non-standard
units

Parent's Signature:

241
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Read the questions carefully. Choose the correct answer and
write the number (1, 2, 3 or 4) in the brackets provided.

1. How many cupcakes are there?

%

8000006068
N W7 W7 W W W W

W

AN Nl

(1) twenty-four (2) thirty-three
(3) thirty-four (4) thirty-five { )

2. 9lessthan28is

(1) 18 (2) 19

(3) 20 (4) 37 ) ( )

3. The number which is greater than 17 but smaller Than 30 is

(1) 13 (2) 24

(3) 3t (4) 37 (
4. 18+ = 25

1y 5 (2) 6

3y 7 | 4) 8 ( )

AR



5.  Whichnumber statement is correci?

(1) 40-20=10 (2) 22-14=36
(3) 34-28=14 (4) 31-16=15 ( )
6. 6+9+4=
1) 13 (2) 15
() 19 (4) 20 ( )

7. Look at the picture.

= ‘ i <
= ~ 9] =

>

b
N

Which of these statemenis is correct? -

(1) Ribbon P and Ribbon Q are of the same length,

(2) Ribbon P is the longest.

(3) Ribbon P is shorter than Ribbon Q but longer than
Ribbon R. .

(4) Ribbon Q is longer than Ribbon R but shorter than
Ribbon P.

244°



“Fill in each blank with the correct answer.

8. Wprite 38 in words.

9. Count the number of eggs and fill in the boxes with the
correct answers.

Tens

Ones

11.  Use the numbers in the box to write an addition

sentence.

8 37 29




12. Fill in the blanks with the correct answer.

Answer questions 13 and 14 using the picture below.

4 vk
sarrmrlie

” ﬁ‘! 1t

13.  The paper clip is.about units long.

14, The pencil is ) units longer than the key.

246"



Read the guestions carefully and complete the word problems.
Fach word problem consists of 3 marks.

15. Colleen baked 40 cookies.
Aisha baked 7 fewer cookies than Colleen.
How many cookies did Aisha bake?

-

Aisha baked

16. May has 18 English books and 12 Chinese books.
How many books does she have in all?

(O[] =

She has

End of Paper

247
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YEAR:2014

LEVEL: P1

SCHOOL: TEMASEK
SUBJECT: MATHEMATICS
SEMESTER: TEST 3

Q1 Qz Q3 Q4 Qs
3 2 2 . |3

WO
[=)Y

w0
~3

&. thirty-eight

9.2,4

10.23, 32
11.29+8=37

12.24

i3.2

14. 4

15. 40— 7= 33 cookies
16. 18 + 12=30 books

249



250

e . e e s L. . Ve e e Y o
“ “
H
i ~ .
.
4
B
;
M
i
1
1
i
|
-
i
! H
; )
;
H



Farent’s signature:

40

Date:
nglo-Chinege School (Primary)
Holistic Assessment 2014
Primary 1
Review Test 2
Name: _ { ) Date
Class: P ) Duration: 1 hour

Addition & Subtraction within 100

Section A : Multiple-Choice Questions (7 marks)

Choage the correct answer for each question and write its number in the

orackets provided.

(1} 38

3% 80

(4) 90

Page I
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Which pair of numbers make 60?
(1) 18and22
A{2) 22and 28
(3) 18 and 32

(4) 22 and 38 - )

62 -24=

(1) 38

(2) 42

(3) 48

(4) 86 | ( )

T am a number between 20 and 30. If you add 5 to me, the number
will be 32. T am

(1) 82
(2) 50
(3) 37

(4) 27 ( )

Page 2
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5 less than 84 is

1) 89
(2) 81
(3) 79

(4) 34

23

21

19

17

i3

1

The missing number in the box is

(1 12

(2) 14

G) 15

{4) 16

Page 3

7



frs Goh had 26 doughnuts. She gave 7 doughnuts to her children.
She has doughnuts left.

ay 19
(@) 2t

(3} 29

S4 ton B i Short Answer Questions {12 marks)

{iegle the sef with the smallest answer. (1Im)

| 9.7 | 12418 54+17 | | 84-75

Use three of the numbers below to form an addition equation. {Im)

13, 52, 49, 62

SRR L

Tage 4

88"



10. Look at the numbers in the box below.

80
25 62
42 13
{a) and , add up to 87. (Im)
b} The smallest number is . (im)
{2} The greatest number is C(im)
{d} is smaler than 62 but greater than 25. (Im)

1i.  Add the following set of numbers.
Show your working in the space provided. (Im)

Add 35 and 49.

e R - S TTR YR L L1

Page 5



i2.

13.

Read the problem. _
How would you solve the problem?
Tick (v) the correct box. (Im)

Paul has 19 toy aeroplanes. Add  Subtract
Samuel has 14 fewer toy aeroplanes. ]
How many aeroplanes does Samuel have? I

Mrs Lee gave out 2 stars for every 10 correct answers for a
Mathematics test. Alan had 30 questions correct in the test.
How many stdrs did Mrs Lee give Alan? (2m)

Number of correct answers 10
obtained in the fest
Number of stars given by 2
Mrs Lee
Mrs Lee gave Alan stars.
Page §
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14. Joe has 3 shirts and 2 pairs of shorts.

How many dif ferent ways can be wear his clothes? (2m)

Shirt B

Shorts W

Shir"r C .

Shorts Z

Joe can wear his clothesin__

Page 7

ways.

a1



Section C : Word Problems (6 marks)
Do the following story sums. Write your answers on the lines given.

15.  Ahmad has 20 marbles.
Jane has 16 marbles. _
How many more marbles does Ahmad have than Jane?(2m)

Ahmad has more warbles than Jane.

16.  Sulin had 18 stickers in an album.
She gave 8 stickers to her brother. _
How many stickers does she have now?(2m)

Sulin has - stickers now.

Page &

92!



17.

Lily bought 12 mangoes.
Gary bought 5 more mangoes than Lily.
How many mangoees did Gary buy?(2m}

Gary bought _ mangoes.

Page 9

an



i

3.. TThe pictures below show what Paul did last Monday.
" Read the tithe next fo each picture and order the pictures.
Write 1st, 2nd, 3rd, 4th and 5th in each box. The first one has been
done for you. (2m)

ist

Page 12



Money
Section A : Multiple-Choice Questions (3 marks)

| Choose the correct answer for each question and write ifs number in the
brackets provided.

i.  Tom has b fwenty-cent coins in his wallet.
How much money does he have?

/_,x % y é‘% g
FLUTRS S N E ey A
i ¥ - o

% i

1) 20¢
(2) 60¢
(3) 90%

(4) 100¢ ( }

o

toy truck

The oy truck costs

B $2
(2) $4
(3) $10
(4) $14 | ( )

Pege 13



3. Which set of coins has the largest value?

@)

2y

(3

4

Section B : Short Answer Questions (3 marks)
Fill in the blanks with the correct answers.

4, 1fifty-cent coin = ten-cent coins (1)

5. 1fifty-dollar note = 4 ten-dollar notes and

notes (Im)

Page 14

+wo-dollar

96°



6.

Siti has $23.

Using all ‘the money she has, which fwo things can she buy? (1m)

water bottle

$8

sfor;ybook
$10

She canbuy a

Page 15

anda

calecuiator
$15

a7



Section C : Word Problems (4 marks)
Do the following story sums. Write your answers on the lines given.

7. Daniel wants to buy a pair of school shoes that costs $18..
He has $5.
How much more money does he nheed? {2m)

He needs $ more.

8. Devi has 20¢ left af ter paying for bar of chacolate. -
How much money did she have at first? (2m)

65¢

Devi had ¢ at first.

25 : 5 10

-

Addition & Subtraction Time Money

End- of - Paper

Tage 16



Year: 2014

Level P1 :

School: Anglo-Chinese School {Primary)
Subject: English

Semester: Review Test 2

Q1 Q2 Q3 Q4

Q5 Q6 Q7
4 4 1 4 3 3 1
Q8) 84-75

Q9) 49 +13 = 62
Q10a) 25 and 62 add up to 87
Q10b) 13
Q10c¢) 80
Q10d) 42
Q11)
T O

Q12) Subtract

Q13)

10 |20 30

2 4 6

Mrs Lee gave Alan 6 stars.

Q14) 6
Q15) 20-16=4

Ahmad has 4 more marbles than Jane.

aa



Q16) 18-8=10

Sulin has 10 stickers now.

Q17)12 + 5 =17

Gary bought 17 mangoes.

Q1) 4
Q2)

half past seven

half past ten

Q1

Q2

Q3

Q4) 5
Q5) 5

100°



e

Q86) She can buy a water bottle and a calculator.

Q7) 18-5=13

He needs $13 more.

Q8) 65+20=85
Tievi had 850 at first.

101
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" Holy Innocents’ Primary Schiool
Topical Test 4 - 2014

Primary One

Mathematics

Daration of Time: 50 minutes

Instructions:

1. Do not turn over this page nntil you are told to do so.

2. Tollow all instructions carefully.
3. Answer all questions.

Obtained Max.
Section A 18
Section B 20
Sectionn C 12
Total 50
Names , () Date:
Parent’s Signature:-

Class: 1 Sineerity ()

149



SECTION A: (9 x 2marks )

For each question, four options are given. One of them is the correct answer.
Choose the correct answer and write its number in the brackets provided.

1) What is the amount of money shown below?

(1) 60¢ (3) 70¢
(2) 65¢ (4) 75¢ «

2} What is the total amount of money shown below?

(1) $14 (@) $19
(2) $20 (4) $24 ( )
1
Property of Holy Innocents’ Primary School : : Score:

150°



3)

4)

9)

Property of Holy Innocents’ Primary Schoot Score:

A loaf of bread

Mrs Tan bought 3 muffins and a loaf of bread.
How much did she spend altogether?

(1) $5 (3) $3
(2) $6 (4) $7

If Mrs Tan gave the cashier a $10 note, how much change
did she receive?

(1) $5 (3) ¥3
(2} 36 4) $7

Xiaoli has $10. Her sister has $6.

How much must Xiaoli give to her sister so that both of them
have the same amount of money?

(1) ¥8 (3) $16
(2) $2 @
2

151



8}  Whatis the time shown on the clock below?

{1) 6 o'clock (3) half past6

(2) 12 o’clock (4) half past 12

7} Which one of the following clocks shows half past 47

(1) (3)
(2) (4)
3

Propeily of Holy Innocents’ Primary School

Score:

152°



What time does he jog every Sunday morning?

(1) haif past 5 (3) hali past 7
(2} half past 6 {(4) half past 8 { )
3) The time shown below is 1 hour slower than the actual time.

What is the actual ime?

(1) 1 o'clock (3) 3 o'clock
{2) 2 o'clock (4) 4 o'clock { )
4

Propady of Holy Innocents’ Prfmar{; School Score:

1R7



SECTION B: (10 x 2 marks )
For each question, show your workings clearly in the space below each

question and write your answer in the boxes provided.
Give your answers in the units stated.

10)  What is the total. amount of money shown below?

11}  Ben wanis to exchange a $2 note for some 20-cents coins.

How many 20—cents_icqin_s will Ben receive?

Ben will receive- 20-cents coins.

12}  What is the fime shown on the clock below?

. Property of Holy Innocents’ Primary School Score:

154°



13} Whatis the time shown on the clock belaw?

14} Draw the hour hand in the clock face below to show 11 o’clock.

15)  Draw the minute hand in the clock face below to show
half past 2.

Fraperty of Holy innocents’ Primary School Seore:

155



i

16} Ken went to the playground at the fime shown below.

He played for one hour and wenf home. .
At what time did he go home?

17)  Arrange the sets of money below (set A, B and C) in order,
beginning with the smallest amount.

Set _ , Set , Set
Smallest
7
Property of Holy innocents’ Priimary School Score:

156°



18)  Sue has 5 ten-dollar notes. Lena has 4 five-dollar notes, How
much more money does Sue have than Lena?

Suehas | $ more than Lena.

19)  Mrs Lim bought 2 different items from Store ABC.
She gave the cashier a $50 note and receive a change of $3.
What items did she buy?

Frying pan
$17

Mrs Lim bought a _ and

- 8 ' l
Property of Holy Innocents’ Prirnary Schoot Score:

157



SECTION C: (3 x 4marks) _
Solve the following problems. Show your workings clearly and write the number
equations and word statements in the given spaces.

20) . Auntie Lily went fo the market with $60 in her pursé.
Stie spent. $48: How much money had she left?

Shehad $ left.

21) Petersaves $47. Hessaves $15 less than his brother.
How much does his brother save?

His brother saves $

g .
Property.of Haly Innocents’ Primary School Score: l

158"



22) Shafi bought a bag for $32 and a pair of shoes for $17.

a) How much did he spend altogether?

He spent 3. aitogether.

b) After buying the bag and the pair of shoes, Shafi has $26 left.
How much did he have at first?

He had $ at first.

- End of Paper ~

10
Score:

Property of Holy Innocents’ Primary School

154
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Year: 2014

Level: P1

School: Holy innocents’ Primary School
Subject: Mathematics

Semester; Test 4

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9

3 4 4 3 2 1 2 3 4

Q10) 750
Q11) 10

Q12) 10 o'clock
Q13) half past 8
Q14)

Q16}) 6 o'clock

Q17) SetB, Set C, Set A

Q18) $30

Q19)Mrs Lim bought a jug and a pot.

1R



Q20) $60-$48=5%12
She had $12 left.

Q21) $47+$15=$62

His brother saves $62.

Q22) $32+$17=$49

He spent $49 altogether.

Q22b) $26+$49=575
He had $75 at first.

162°



PAYA LEBAR METHODIST GIRLS' SCHOOL (PRIMARY)
Name . ¢ )

Class 3 Primary 1

Date

Parent’s Signature: _

Mumbebs $o 40
Revisien 2 - 2014

Section A: (6 x_1 mark = 6 marks)

Chosse the correct answer and put a tick in the box i,

i em-it=| 7 ‘

9
The missing number in the boxis | 14
36
21 2 |- 8=z
- = -
14

The missing number in the boxis | 26

30

3. The humber that is-between 23 and 25 is

22

24

26

307



4. Add 7and 28.

The answer is

Mumbers 1o 40
Revision 2 ~ 2014

25

21

35

5. Complete the number paffern.

' The number that comes next is 25

18

28

38

24

26

| is greater than 10 but smaller than 20.

308



Numbers to 40
Revlslon 2 - 2014

Sction 8 (4 x 2 marks = 8 marls)
Write the correct answers in the blariks provided.

7. a)Write the né}nﬁar in word.

39

b)Y Write the word in number.,

thirteen

&. Which three numbers make up 387 Circle them.

309



Nusnbers 1o-40
Revision 2 - 2014

9. Arrange the numbers in order from the greatest to the smallest.

 greatest

"10. - Sally has 4 pieces of string A, B, C.dnd D.
String A is longer than String B.
String C is longer than String A but shorter than Siring D.
Which is the shortest string?
(Hint: Draw A Diagram)

String is the shortest.

310°



Nutmbers t6'40
Reviston 2 -~ 2014

Section €: (2 x 3 marks = 6 marks)
Read each guestion carefully. Write your answers clearly in the given -
blanks. Marks will be given for the correct equations.

11. | Peter and Ali have 27 marbles.
Peter has 12 marbles,
How many marbles does Ali have? -

Ali has ' marbles.

12. There are 11 red beans and 13 green beans in a box.
How many beans are there altogether?

A0

There are _ beans altogeiher.

_Have you ¢hecked your work?

31






Year: 2014

Level: P1

School; Paya Lebar Methodist Girls’ School
Subject: Mathematics

Semester: Revision 2

Q1) 14

Q2) 30

Q3) 24

Q4) 35

Q5) 25

Q6) 18

Q7a) thirty-nine
Q7b) 13
Q8)20 12 6
Q9) 35 31 28 20
Q10)B

Q11) 27-12=15
Al has 15 marbles.

Q12) 13+11=24

There are 24 beans altogether.

313
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Nanyang Primary School
Mathematics
Primary 1
Term 2 Combined Topical Test

Name:

e

) Marks: { 40

Class: Primary * )

Date: 8 May 2014
Duration: 45 minutes

Any query on marks awarded should be raised by 20 May 2014. We seek
your understanding in this matter as any delay in the confirmation of marks
will lead to delays in the generation of results.

Section A

Questions 1 to 10 carry 1 mark each.

Foreach duestion, four options are given.

One of them is the correct answer,

Choose the correct answer and write its number (1, 2, 3 or 4) in the
brackets ( ) provided. ~ {Total: 10 marks)

Left Right

Which position is letter R in?

(1)  2"from the left

(2) 3" from the right

(3) 6" from the left :
(4) 7™ from the right ( }

17
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L ook at the 10-cent coin above.
What is the shape?

(1) Circle (2)
(3) Square (4)
8 and make 12

(1) 6 (2}
(3y 20 (4)

Triangle
Rectangle

¢

19



5.

6.

7.

What is the missing number?

(1y 11 (2) 13
3) 3 (4) 21 ( )
18 ~4 =

CheCDecheceCecie
ohecherhechecheche

®

CRECDEDESRE e RE
(1) 13 (2) 14
3) 22 (4) 4 ( )

During a boat race, Boat D is between Boat A and Boat B.
IBoat C is in front of the other boats.
What js the position of Boat.D from the finishing line?

(1} First (2)  Second
(3) Third - (4) Fourth . ( )

3

20%



10.

A - (C)

Which of the above two shapes can be put togetherto form a

sqguare?
(1) Aand C (2) AandD
(3) BandC (4 BandD

There are 4redpensandl3bluepensin a box.
How many pens are there in the box altogether?

1y 7 (2) 9
3y 17 (4) 18

There were 14 peoplg at a party.

8 of them were children.

The rest of them were adults:

How many adults were there at the party?

(1Y © (2) 12
(3} 22 (4) 4

21



Section B _
Questions 11to 19 carry 2 marks each.
Show your working clearly in the space provided for each question and

write your answer in the blank provided.
(Total: 18 marks)

" 11. a)Circlethe biggest triangle
b) Colourthe smallest rectangle.

s : ——

O
S
N &

12.  Arrange the numbers in order.
Begin with the smallest number.

15 , 10 , 2 , 12, 20

13.  Study the number pattern.
What is the missing number?

20 18 16 ? 12 10

Ans:

20°
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15. Mother bought 6 strawherry cupcakes and 7 chacolate.
cupcakes. ' '
How many cupcakes did she buy altogether?

Ans:

16. There are 12 eggs in Box A and Box B altogether.
Box A has 2 more eggs than Box B.
How many eggs are there in Box A and Box B?
Show your answer by drawing the number of eggs in the 2.
boxes.

Box A Box B

17. Study the pattern below.

S SUNVE SNV A

Cross out the shape that is not part of the pattern.

24



18. Anita has an even number of oranges.
The number of oranges she has is more than 16 but less
than 20..
How many oranges does Anita have?

Ans:
19. Study the number patterns carefully.
What is the missing number?
A 5
18 15
2 10 7 3
6
Ans:

25



Section C
Quigstions 20 to 22 carry 4 marks each.
Write number equations and do these word problems carefuny

Show your working clearly in the space provided for each question.
(Total: 12 marks)

20. Alex has 17 toy cars.
Sarah has 8 fewer toy cars than Alex.
How many toy cars does Sarah have?

Sarah has foy cars.




21,

Sue brought some candjes to school.

After giving away 5 candies to her friend, Sue had
9 candies left

How many candies did Sue bring to school at first?

Sue brought tandies-to school at first.

10
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22. Harry has 12 balloons.
iHe gives 5 balloons away.
How many balloons does Harry have left?

N2NONS.
0 @@@

Harry has balloons left.

@ End of Paper ©
Please Check Careiully

11

4494
NRA

29
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YEAR: 2014

LEVEL: P1

SCHOOL: NANYANG
SUBJECT: MATHEMATICS
SEMESTER: TERM 2

QI Q2 Q3 Q4 05

3 1 4

QI0
-

1. /

12.2,10, 12, 15,20
13. 14
14. A
15. 13

16.80x A OO OO OO0
Box B:O OO OO

17. Cross out: <>

18.18
19. 13
20.17-8=9
21.5+9=14

22.12-5=7

31
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P1 Mathematics 2014

Checkpoint 2

Name ¢ )

Class :Primary 1 -

P?kills_Acquifed N B _ o _ - j - Questlon |
Nutbers:-to 100 ' -
v Able'to read and write numbérs in nuitierals and words within 100 |, ' 3@}3@5'
4 v Abledto interpref nunibers within 100 in ferins-of fens and ortes T ;1'_ 13 .
v Able ‘i’é compare and order-numbers within 160 ‘ _ B 2.3,6 ‘i.t
{ ¥ Able toidentify patterns in number sequence T - ‘9. |

"Addition and Subtraction Within 100 .

v Able to add and subfrgcf'}z&mbers‘ W[fhl]"? Im-(w;'fhadf renaming) |- 4.5 7 Ha ﬁb '1'2,.' :

v Able to add 3 nuribers | 10

v Able to solve one-siep word problems | 1 14,15

Problem Solving” Strategies

v Able fo solve word problems using the heuristic, Draw A Diagram T

Comments (if any) ' |

Parent’s signature / Date :

275



PAY A LEBAR, METHODIST GIRES! SCHOGL (PRIMARY). -
l Name :__._ _ £ )

Class: : Primary 1

Date .. 'Augusf 2014

MNumbers 0.1C0-
Additian & Subtraction Within 100
Checlpolnt 2-- 2014

25 -

Section A (7 x .1 mark = 7 .marks)
Choose the correct answer and put a tick in the box &

ey
L

-t 20 B
2 tens 3-ones’is thesame as | 23
32
o4 | . '
2. o8 is 2 less than 96.
100
3. 78 - is smaller than 77.
65
4 45 + 14 = )
31
The missing number in ? s 59
86 .
1

2767



5. 67 - 31

11

The missing number in

Mutibers 1o 100
Atldition & Subtraction Within 100
Checkypoint 2 « 2014

36

is

54

98

&, Ali, Bala and Cathy have the following number cards..

Ali

Bala

Ali

Bala.

Cathy

7. Add 3 tens to 55,

The answer is

Cathy

] [an) foo

iqas the card with the greafest number.

35

58

85

277



Numbers.to 100
Addiiieh & Subtraction Within 100
Checkpoint 2 - 2014

Section B: {6 x 2 marks = 12 marks)
Write the correct answers in the boxes provided.

8. Count the stickers.

How many stickers are there altogether?

a) Write the answer in number.

b) Write the answer inword.

9.  Complete the number paftern below.

278"



- Munbers fo 100
Addition & Subiraction Within 100
Chedpolnt 2 - 2014

10, 3 + 4+ 2 =

B) 75 - 32 = |

2. 68 - 25 = | TehSi | ones-

s loaees |[esse®|

The picture shows fens “fones.

279



Numbers ta 100
Addition & Subtraction Within 100
Chechpoint 2 -~ 2014

Section C: (3 x 2 marks = 6 inarks)
Read each question carefully. Write your dnswers clearly :n the given boxes.
Marks will be given for the correct equations.

14, 'Xiao Ming sold 41 tickets for a fun fair.
. He had 8 tickets left.

How many tickets did he have at first?

OLJO

He had tickets at first.

15, There are 49 oranges in the box.
23 of them are sold.

How many oranges are lefi?

simle

Thereare | oranges left.

280



16,

Numbers. to 100
Addition & Subtraction Within 160
Checlpoint 2 - 2014
Anna isstanding. in a row with other children.
She is fifth from.the right.
She is also second from the left.

How many children are there in the row? (Draw A Diagram)

There are children in the row.

Have you checked your work?.

281
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YEAR: 2014

LEVEL: P!

SCHOOL: PLMGS
SUBJECT: MATHEMATICS
SEMESTER: CHECKPOINT 2

23

94

65

59

36

Ali

85

ay23

b) twenty-three

PN O R W

9. 34,40
10.9
11.2) 40
b) 43
12.4,3
13.4,6
14.4] + 8 = 49
15.49 - 23= 26

Soyelelslele

1 Anna

There are 6 children

283
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